NBHBN (17 8)

B
El
o C
>¥/< 7500
2000
52 943 10 943 52
R A2 OBE 12mm, o P A2 ORE 12mm
[T il
gIN
off s
N
2
D
S|t : b : S| g
N | N
2
D
;ﬁ? al %B
o \
° \ | ] \ ol
Ill \ h \/ \ )II’/\
(@)
: 5 b o s
gg ]
BN (1720
- of
$) RBOAE S ESETHTT,
0550 %
Q:(\\ﬁ D)
im (2:) T
| — 2 g i i)
T $13 TN
2 L

D) BRARISROLY, FTEHCEBTHIEAHY ET,

(SFBR (178

BREDN K LFFE BHEHT

D& sEr R

H2000

2000 ()

KFTHO5062# 1

|1

g 8/

—1 |

D&M (1/8)

HE iRV B B (mm) ¥t B ] z
1 mAEE 0100x50xt3.2 STKR400 HENRER (ThiEfin- &)
2 Alsvy 7 t1.6 SGH HERBER (TBEHY- &)
3 FEME (RAD 50x64.5 AB063S BaE L EoRE
4 PR (GAD 50x 64.5 AB063S BREEARE
5 PR (ZAD 50%x 64.5 AB063S BEEEARE
6 FARER 25X 60 AB063S BaBEoRE
7 HRLL AN t3.0 7V IBERBRAN -
8 v - Ff - IFAb9- -
9 filxvy 7 - ASA -
10 Rivy 7 ¢ 16/ +40Y -
11 Hel t4 AT VA -
12 258 t4 ATV LA -
13 [ B! t3 AFYULA -
14 AEY K $15 ATV LA -
15| ABY FWiy kY ¢ 19/ CR -
16 PPEY t6 SPHC HENRER (ThiEfin- &)
17 kvy t6 SPHC HERBER (ThEHY- &)
18 EIYYKAEE t13.5 SPHC HENRER (FhiEfin- &)
19 kY ISk $12 SGD BAEEGY - &
20 gy 4x20 ATV LA -
21 Eg 12 E30] -
22 BLBZEE t4 ATV LA -
23 L $13 AFYULA -
24 FHn47 $22 PVC -
25 [REI) t2 AB063S. EPDM -
26 Hift & b M10x125 4.618% BRIEHY - &
27 " M10x90 LN E BRERDo &
28 " M8x 75 AFYULA -
29 " M8x 65 ATV LA -
30 FIADRY M4x 10 ATV LA -
31 NP M4x 10 ATYLA -
52 FRNRY M4x 8 ATV LA -
33 F7A by - H52 ERISALNA N -
34 MiEREE t3.2 SGH @i & HHENHEE
35 R b M8x 115 4.618% ARl - &
36 Hift & b M8x 20 4.618% ARl o &
37 HHL LIt - BARLM -
38 FREYWZY M4x 15 ATV LA -
39 i K- t1.6. t1.2 SGHC @i & HHENHEE




